| Efficiency vs Dxy |
>0.05
X

3 S
N e S
< A T T
R e
@ e
D035t 4 """" P
© : : : : : : : : :
0.03F i 1 """" P
T
002
0OL5|

X0 0 e e o e
e T 1

.9 J_O_:IIII.IIII.IIII.IIII.IIII:IIII.IIII.IIII.IIII.IIII

: |

10 <] S SOUOYS SRS AR SO S S NS S S
e e B i AR AR SRR e Preeee
F : ! :

09 56-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT_original
| Efficiency vs Dz | —— DQM_TT__mod_modelsdeep_truthfinal_reg_model TEST-24

0.5 —— DQM_TT__mod_modelsdeep_somethingbetter

20.45 e
7 200 e
T
0.3
I
o
0.15 S N e
5 J00 N 1

dz

fficiency

0.05 | | TR N I —
J__Q H [ . H

Ratio

1.1

230 =2 i Y 10 20 30
TP dz (cm)



	Contents
	Page 1


